< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

|
©
o
()]
T T [ T T I T [ TT T[T [ TT T[T [ TT T[T IT T TTTrT

-1 0 1 2 3

TP n (PCA to beamline)

< o cot(y) >

0 1 2 3
TP n (PCA to beamline)

|

w

| f——
Ny ' f

|

=

—— DQM_V0001_R000000001__Global_CMSSW_CKTi502_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt502_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i3_RECO

100

[

f=)
w

-1 0 1 2 3
TP n (PCA to beamline)

1 O O s
IR M
AL LA
11|
Tl g
| IALL g ]

0 T 2 3
TP n (PCA to beamline)

= 100 T N N 7

E ! : :
= 80 -1["If# =
A r 1 ! :
'DN 60:_ - " -' L 2
ie] r : N
v 40 |
20F
o 1l 1.1
-20F BRE
~aof ;
~60- i
-80F
o—lOO:""'""""'i"""""""
2 1 1St { SEEEEE SR LT
o r ]
0.5F Ak
0: ] H h N : ]
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


